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Brace Depth (BD) = depth brace will extend into grate
Brace Width (W) = width of brace, max is 2.5”

Guide (G) is width of guide rail attached to bottom of jig to align guide to edge of grate

∆ is the difference in the radius of the router bit and bushing used.  All unlabeled arrows are this dimension.  
  So for a ¼” bit and a ½” bushing ∆=1/8”

Ensure sides (especially back) of jig are smooth.  Any roughness will be replicated in finished notch.

Make jig large enough so clamps are clear of router path- generally 6” beyond edges of notch.

D= (G+BD+∆)

F= ∆ + G + (W+∆)√2

B= ((W+∆)√2) –BD (not necessary, because F and D are sufficient, but useful for a sanity check)
Example:  ∆=0.125”, W=2.5”, G=0.5”, BD=0.75”

D= (0.5 + 0.75 + 0.125 ) = 1.375”
F= (0.125 + 0.5 + ((2.5 + .125) 1.4142) = 4.337”
B= ((2.5 + .125) 1.4142)-0.75=2.96”
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Jig design for notching Thistle  grate to receive 45° braces








